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INEF VAR X 200 1,260 700 3,696 880 1,350 5,600 1,460 3 2 2 3 48 300
INEHINEAR 660 350 1,272 370 650 2,600 1,100 2 1 1 1
INET R AR 200 600 350 2424 510 700 3,000 360 1 1 1 2 48 300
FE/NFR X 1,140 450 1,848 200 1,850 2,300 360 2 1 1 1
i@ /hERR 1,140 450 1,848 200 1,850 2,300 360 2 1 1 1
IR Fim o AR g & M = 1T 5 £
RE/NERR 500 1,080 550 2,904 1,037 1,600 7,400 1,800 5 3 4
ESZN=E 5 200 180 200 984 227 450 2,500 1 1 1
M EF 2R 300 720 100 1,176 420 450 3,200 360 2 1 1
FRXFEEREE) 180 250 744 390 700 1,700 1,440 2 1 2
AL/ 400 540 200 1,488 190 200 2,200 2 1 1 1
ENTEE: 400 540 200 1,488 190 200 2,200 2 1 1 1
FFINERX 200 1,080 300 1,728 450 200 3,000 3 1 2 1 40
FIRINERR 200 480 300 528 190 200 1,700 2 1 1
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FrinERERAE 600 1,200 260 1,300 1 1 1 40
INEINVERR R 100 480 50 720 100 300 1,300 360 2 1 1 1 44
INERINERR 100 480 50 720 100 300 1,300 360 2 1 1 1 44
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FTARINERX 200 720 100 1,248 140 200 1,600 1 1 1
EEEE 200 720 100 1,248 140 200 1,600 1 1 1
BN ER X 900 150 1,320 430 600 3,700 360 3 1 2 2
F/NERR 600 100 888 400 400 2,600 360 2 1 1 1 288
HFOZa=T4/\HR 300 50 432 30 200 1,100 1 1 1
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A+ E/DNERER 700 7,020 350 6,288 1,110 1,500 7,600 720 4 1 3 3 1,608 432
A+ ENER 200 1,020 250 2,184 240 600 3,100 360 1 1 1 960
B+ EPER 500 5,520 3,792 840 700 3,400 360 2 1 1 1 648 432
AHEIAZa=TF\HR 480 100 312 30 200 1,100 1 1 1
RFEH/DER X 300 1,020 400 2,376 545 950 3,900 360 4 2 2
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INFT R AR 200 960 100 1,536 480 450 2,500 360 1 1 1
FRIESEER 60 72 25 300 200 1
RHFHIAZ2 =T F— 100 300 768 40 200 1,200 2 1 1
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AR MR 200 840 650 3,024 560 1,000 5,500 720 131 3 3
FERNEF /N 200 300 300 1,344 230 400 2,000 360 1 1 1
FinEsERER 180 100 720 170 400 1,900 2 1 1
WIS T H— 360 250 960 160 200 1,600 360 128 1 1
BFILNERX 1,080 150 1,608 440 400 3,700 360 2 1 1 1 18
BT 1,080 150 1,608 440 400 3,700 360 2 1 1 1 18.0
REFINVER X 200 600 200 2,256 310 969 4,740 4 2 3 4 576 1,296 1,000
REF/INERR 100 200 744 100 400 1,500 1 1 1 576
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EBTREE 100 600 888 150 269 1,940 1 2 1 2 1,296 1,000
2EFE/NERR 300 200 1,176 190 400 2,200 190 1 1 1 40
EE 300 200 1,176 190 400 2,200 190 1 1 1 40
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SLIMINVERR R 500 840 320 2,640 299 500 1 1 1 108
ENEEA 500 840 320] 2,640 299 500 1 1 1 108
@D (ESNEREX 450 3,180 450 5,184 610 1,050 720 2 2 2
FEDES/NER 200 1,800 100 2,208 310 750 2,600 360 1 1 1
BAXESEFR 250 1,380 350 2,976 300 300 1,600 360 1 1 1
WEERTET 3950| 22,080 5,220 39,504 7,491 12,569| 55,240 7,410 170 11 29 31 172 18 1,728 1,452 1,000
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O|FiFh%#k 400 720 150 1,224 200 400 1,500 1 2 6 1 13 9 180 240 1,000 100
O E/NEFER 500 1,080 150 2,232 160 400 900 360 1 2 1 1 48 3 8 180 144 800 81
O|Em /M ER 200 960 250 1,872 460 400 3,900 360 5 2 1 1 40 43 180 432 1,000 200
O [ FHim/ N F 4L 800 2,820 1,050 3,096 890 1,550 5,100 360 5 1 1 5 47 180 1,176 992 100
O HA TR /INFER 200 1,500 300 2,592 435 1,000 500 360 4 1 1 3 20 360 108 432 1,000 200
O|E2&HthER 150 1,020 2,736 590 700 2,100 360 1 3 1 1 40 144 5,058 304 3,280
O| WA /NER 150 2,340 800 3,312 630 650 2,900 360 4 3 1 16 80 60.0 45 180 1,338 496 1,000 1,000
7o ERAT 900 250 720 100 360 80 756 384
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